                                  TOC Assignment 1
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Hence disproved
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B]

      =>AUB=>RHS            (Applying Absorption law)

4. Give an eg of a relation which is reflexive, but not symmetric and not transitive.

    Let A={a,b,c} and R=((a,a),(b,b),(c,c),(a,b),(b,c)}

   Reflexive since for each x in A xRx

   Not symmetric since aRb, but bR’a

   Not transitive, since aRb, bRc but aR’c

5.  Give an eg of a relation which is not reflexive, antisymmetric and transitive.

A relation R in Z defined by xRy, if x>y.

Not transitive, aR’a (a>a not true)

Not symmetric since aRb=>bR’a ( a>b =>b>a not true)

Transitive since aRb, bRc=>aRc    (a>b and b>c=>a>c)

6. Check whether f(x)= √x is a function or not.

   A function f from a set x to y is a rule which associates to every x in X a unique element in Y, denoted byf(x)

Let x=2,then f(2)= √2=1.44 does not belong o Z.

Hence f is not a function

7. f(x)=x2 from N to Z

 Every element in N has a unique element in Z. So it is a function.

8. f(x)=|x| from Z to Z.

   X=2, f(x)=|2|=2,

Every x in Z has element y in Z. Hence function.

